

# Franiszek Malinka

zed. 3

Algorytm:

$$\begin{aligned} a_0 &:= b_0 & a_n &:= b_n \\ a_k &:= a_{k+1} & a_k &:= a_{k+1}(x-x_k) + b_k, 0 \leq k \leq n-1 \end{aligned}$$

$$L_n(x) = a_0$$

Algorytm jest numerycznie poprawny, jeśli dla lektu zaburzonej danych paradyje nielwielki bład:

~~$$L'_n(x) = (b_0 + \varepsilon_0) + (b_1 + \varepsilon_1)(x - x_0 - \eta_0) + \dots + (b_n + \varepsilon_n)(x - x_0 - \eta_0) \dots$$~~

~~$$= b_0 + b_1(x - x_0) + \dots + b_n(x - x_0) \dots (x - x_n) + \dots$$~~

~~$$+ \varepsilon_0 + \varepsilon_1 x - \varepsilon_1 x_0 - \varepsilon_1 \eta_0$$~~

Algorytm:

$$b_0 + (x - x_0) [b_1 + (x - x_1) [b_2 + (x - x_2) [\dots [b_{n-1} + b_n(x - x_n) \dots]]]]$$

↓ zaburzenie

$$(b_0 + \varepsilon_0) + (x - x_0 - \eta_0) [b_1 + \varepsilon_1 + (x - x_1 - \eta_1) [\dots [b_{n-1} + \varepsilon_{n-1} + (b_n + \varepsilon_n)(x - x_n - \eta_n) \dots]]] =$$

=